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Question Id : 92090627230 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long st of
extinct creatures.

Of course, in the last decade or so, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinct is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much is being done, there is still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by year, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them 1s this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090627231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3)  sympathy (4) fear

Options :



920906107601. 1
920906107602. 2
920906107603. 3
920906107604. 4

Question Number : 2 Question Id : 92090627232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk (4) beaver
Options :

920906107605. 1
920906107606. 2
920906107607. 3
920906107608. 4

Question Number : 3 Question Id : 92090627233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906107609. 1
920906107610. 2
920906107611. 3
920906107612. 4

Question Number : 4 Question Id : 92090627234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animals species should be preserved mainly because:

(1) they are lovely creatures.
(2)  they are killed by cruel people.
(3)  zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :

920906107613. 1
920906107614. 2
920906107615. 3
920906107616. 4

Question Number : 5 Question Id : 92090627235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life 1s about to become extinct mainly because:

(1)  they are killed by people callously.
(2)  sanctuaries are not maintained properly.
(3)  people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906107617. 1
920906107618. 2
920906107619. 3
920906107620. 4

Question Id : 92090627230 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long list of
extinct creatures.

Of course, in the last decade or s0, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinet is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much i1s being done, there 1s still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by vear, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them is this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090627231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3) sympathy (4) fear
Options :

920906107601. 1
920906107602. 2
920906107603. 3
920906107604. 4



Question Number : 2 Question Id : 92090627232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk {(4) beaver
Options :

920906107605. 1
920906107606. 2
920906107607. 3
920906107608. 4

Question Number : 3 Question Id : 92090627233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906107609. 1
920906107610. 2
920906107611. 3
920906107612. 4

Question Number : 4 Question Id : 92090627234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Animals species should be preserved mainly because:

(1)  they are lovely ereatures.
(2)  they are killed by cruel people.
(3) zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :
920906107613. 1



920906107614. 2
920906107615. 3
920906107616. 4

Question Number : 5 Question Id : 92090627235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life is about to become extinct mainly because:

(1)  they are killed by people callously.

(2)  sanctuaries are not maintained properly.

(3) people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906107617. 1
920906107618. 2
920906107619. 3
920906107620. 4

Sub-Section Number : 2
Sub-Section Id : 920906875
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090627236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906107621. 1
920906107622. 2
920906107623. 3



920906107624. 4

Question Number : 6 Question Id : 92090627236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906107621. 1
920906107622. 2
920906107623. 3
920906107624. 4

Question Number : 7 Question Id : 92090627237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were able
(4)  has able

Options :

920906107625. 1
920906107626. 2
920906107627. 3
920906107628. 4

Question Number : 7 Question Id : 92090627237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were ahble
(4)  has able

Options :

920906107625. 1
920906107626. 2
920906107627. 3
920906107628. 4

Question Number : 8 Question Id : 92090627238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3 embarass (4) embarrors
Options :

920906107629. 1
920906107630. 2
920906107631. 3
920906107632. 4

Question Number : 8 Question Id : 92090627238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3) embarass (4) embarrors
Options :

920906107629. 1
920906107630. 2
920906107631. 3
920906107632. 4



Question Number : 9 Question Id : 92090627239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the meaning of the underlined idiom from the options given :-

Sunita is an apple of her father’s eve

(1) lovable (2) talkative
(3 uncontrollable (4) hated
Options :

920906107633. 1
920906107634. 2
920906107635. 3
920906107636. 4

Question Number : 9 Question Id : 92090627239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the meaning of the underlined idiom from the options given :-

Sunita 1s an apple of her father’s eve

(1) lovable (2) talkative
(3) uncontrollable (4) hated
Options :

920906107633. 1
920906107634. 2
920906107635. 3
920906107636. 4

Question Number : 10 Question Id : 92090627240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form of indirect speech of the following sentence.
He said. “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3) He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906107637. 1
920906107638. 2
920906107639. 3
920906107640. 4

Question Number : 10 Question Id : 92090627240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.
He said, “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3)  He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906107637. 1
920906107638. 2
920906107639. 3
920906107640. 4

Question Number : 11 Question Id : 92090627241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles

(3) two right angles (4) one obtuse angle and one right angle



Options :

920906107641. 1
920906107642. 2
920906107643. 3
920906107644. 4

Question Number : 11 Question Id : 92090627241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles
(3)  two right angles (4) one obtuse angle and one right angle
Options :

920906107641. 1
920906107642. 2
920906107643. 3
920906107644. 4

Question Number : 12 Question Id : 92090627242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of 18, 19, x, 25 and 26 is 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906107645. 1
920906107646. 2
920906107647. 3
920906107648. 4

Question Number : 12 Question Id : 92090627242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the mean of 18, 19, x, 25 and 26 15 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 20.6
(3) 19.6 (4) 18.8
Options :

920906107645. 1
920906107646. 2
920906107647. 3
920906107648. 4

Question Number : 13 Question Id : 92090627243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906107649. 1
920906107650. 2
920906107651. 3
920906107652. 4

Question Number : 13 Question Id : 92090627243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906107649. 1
920906107650. 2
920906107651. 3
920906107652. 4

Question Number : 14 Question Id : 92090627244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906107653. 1
920906107654. 2
920906107655. 3
920906107656. 4

Question Number : 14 Question Id : 92090627244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h 18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906107653. 1
920906107654. 2
920906107655. 3
920906107656. 4

Question Number : 15 Question Id : 92090627245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+coséd 17 .
f +— = — . then find the value of (5|n4 8 —cos” E):
sind-cosd 7

12
1 119 ) —
(1) (2) 5
119 2

(3) ﬁ' (4) g

Options :



920906107657. 1
920906107658. 2
920906107659. 3
920906107660. 4

Question Number : 15 Question Id : 92090627245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+cosf 17 :
SROT PR L then find the value of (sm4 6 - cos* E):
sinf-cosé 7

12

1 119 2) —

(1) () 3

119 2

3 s ) =

(3) 169 (4) 3
Options :

920906107657. 1
920906107658. 2
920906107659. 3
920906107660. 4

Question Number : 16 Question Id : 92090627246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : . At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both conclusion I and II are true

(4) Neither coneclusion I nor 11 is true

Options :



920906107661. 1
920906107662. 2
920906107663. 3
920906107664. 4

Question Number : 16 Question Id : 92090627246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : I. At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both coneclusion I and II are true

(4) Neither conclusion I nor 11 is true

Options :

920906107661. 1
920906107662. 2
920906107663. 3
920906107664. 4

Question Number : 17 Question Id : 92090627247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How 1s E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906107665. 1



920906107666. 2
920906107667. 3
920906107668. 4

Question Number : 17 Question Id : 92090627247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How is E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906107665. 1
920906107666. 2
920906107667. 3
920906107668. 4

Question Number : 18 Question Id : 92090627248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) is embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :
920906107669. 1




920906107670. 2
920906107671. 3
920906107672. 4

Question Number : 18 Question Id : 92090627248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) 15 embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :

920906107669. 1
920906107670. 2
920906107671. 3
920906107672. 4

Question Number : 19 Question Id : 92090627249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906107673. 1
920906107674. 2



920906107675. 3
920906107676. 4

Question Number : 19 Question Id : 92090627249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906107673. 1
920906107674. 2
920906107675. 3
920906107676. 4

Question Number : 20 Question Id : 92090627250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4)  They are formed sedimentary rocks

Options :

920906107677. 1
920906107678. 2
920906107679. 3
920906107680. 4

Question Number : 20 Question Id : 92090627250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4) They are formed sedimentary rocks

Options :

920906107677. 1
920906107678. 2
920906107679. 3
920906107680. 4

Question Number : 21 Question Id : 92090627251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906107681. 1
920906107682. 2
920906107683. 3
920906107684. 4

Question Number : 21 Question Id : 92090627251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906107681. 1
920906107682. 2
920906107683. 3
920906107684. 4



Question Number : 22 Question Id : 92090627252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (ITT) Golden rod
(D) United Kingdom (IV) Rose

(Choose the correct answer from the options given below:

(1) (A-ID, (B)-(ID), (C)-(D), (D)-IV)
(2 (A)-AD, (B)-(ID), (C)-(IV), (D)-(D)
(3 (A)-AID, (B)-(1D), (C)-(D), (D)-(IV)
(4)  (A)-AV), (B)-(IID), (C)-(I), (D)-(II)

Options :

920906107685. 1
920906107686. 2
920906107687. 3
920906107688. 4

Question Number : 22 Question Id : 92090627252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List IT -

List [ (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (IIT) Golden rod
(D) United Kingdom (IV) Rose

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(I), (D)-(IV)
(2)  (A)-ID, (B)-(ID), (C)-(IV), D)-(D)
(3 (A)-aID, (B)-(ID), (C)-(I), (D)-(IV)
(1)  (A)-AV), (B)-(11D), (C)-(D), (D)-(1I)

Options :

920906107685. 1
920906107686. 2
920906107687. 3
920906107688. 4

Question Number : 23 Question Id : 92090627253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Development Council was constituted on

(1)  Augustl6, 1950 (2) Aprl 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906107689. 1
920906107690. 2
920906107691. 3
920906107692. 4

Question Number : 23 Question Id : 92090627253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Development Council was constituted on

(1)  Augustl6, 1950 (2) April 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906107689. 1
920906107690. 2
920906107691. 3
920906107692. 4

Question Number : 24 Question Id : 92090627254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906107693. 1
920906107694. 2
920906107695. 3
920906107696. 4

Question Number : 24 Question Id : 92090627254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One 15 labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906107693. 1
920906107694. 2
920906107695. 3
920906107696. 4

Question Number : 25 Question Id : 92090627255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepika Kumari is associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906107697. 1
920906107698. 2
920906107699. 3
920906107700. 4

Question Number : 25 Question Id : 92090627255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepika Kumari 1s associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906107697. 1
920906107698. 2
920906107699. 3
920906107700. 4

Part B: Pharmacy

Section Id : 920906540
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906876
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090627256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following anti-oxidant is used to prevent oxidative degradation of plastic :
1.  Ultramarine
2. Cresols
3. Phthalate ester
4. Liquid Paraffin
Options :

920906107701. 1
920906107702. 2



920906107703. 3
920906107704. 4

Question Number : 26 Question Id : 92090627256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIed &1 SRS Fla®ul dia- d fere Fafiafad 8- siiaiiSe &1 wam fea

Sl 82
1. SCCPEE
2. il
3. AU EW
4. wfad tRifte
Options :

920906107701. 1
920906107702. 2
920906107703. 3
920906107704. 4

Question Number : 27 Question Id : 92090627257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Class 100 area is referred as
1. manufacturing area
2. aseptic area

3. clean room

4.

ware house

Options :

920906107705. 1
920906107706. 2
920906107707. 3
920906107708. 4

Question Number : 27 Question Id : 92090627257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

it 100 &3 &1 FgfeRad ¥ # Hehifd fear S g -
1. fafRwfor &z

2. 3PS aF
3. P Ha

4. HIA M/ TR

Options :

920906107705. 1
920906107706. 2
920906107707. 3
920906107708. 4

Question Number : 28 Question Id : 92090627258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not used as tonicity contributor in sterile products?

1.  Sodium chloride

2. Glycerine

3. Lactose

4. Magnesium stearate
Options :

920906107709. 1
920906107710. 2
920906107711. 3
920906107712. 4

Question Number : 28 Question Id : 92090627258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mﬁﬁﬁwmwmﬁﬁmm%mﬁﬁm
Wildl & :-

1. WIfegd TRSsS

2. [l

3. A9

4. THIREE e
Options :

920906107709. 1
920906107710. 2
920906107711. 3
920906107712. 4

Question Number : 29 Question Id : 92090627259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a subcomponent of continuous spray valves used
in aerosols?

1.  Actuator
2. Dip tube
3. Lower punch
4. Stem gasket

Options :

920906107713. 1
920906107714. 2
920906107715. 3
920906107716. 4

Question Number : 29 Question Id : 92090627259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ferafafad & 9 S1w el J e e ard “Read W died &1 JUHT T8l 82

1. TERAR

2. feuagg

3. dlRu™

4. WHNRSDC
Options :

920906107713. 1
920906107714. 2
920906107715. 3
920906107716. 4

Question Number : 30 Question Id : 92090627260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following material is not used as enteric coating material for tablets?

1. Cellulose Acetate Phthalate
2. EudragitL
3. Polyethylene Glycols
4.  Hydroxy propyl methyl cellulose phthalate

Options :

920906107717. 1

920906107718. 2

920906107719. 3
920906107720. 4

Question Number : 30 Question Id : 92090627260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafiad o 9 &9 el &1 IuanT 2ade (gfdesih) & e sfd: du- 9l & &9
# =g ooy 9 872

1. Iqay iee e

2. ggifoe ud

3. UigYURdH Tdgsed

4. grESIEdl UuEd e glde

Options :

920906107717. 1
920906107718. 2
920906107719. 3
920906107720. 4

Question Number : 31 Question Id : 92090627261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List=Il:

List— List—I|
(Types of Newtonian and (Examples)
non-Newtonian fluids)

(A) | Newtonian fluids (I} | Dispersion containing high
concentration of small deflocculated
particle

(B) | Plastic flow () | Water

(C) | Pseudoplastic flow (lll) | Concentrated suspension

(D) | Dilatant flow (IV) | Aqueous dispersions of hydrocolloids

Choose the correct answer from the options given below:
1. (A (B)=(1); (CH=(IV); (D))
2. (A(I); (B)-(IV); (C)=(1); (D)-(1)
3. (A)(I); (B)=(IlI); (C-(IVY; (D))
4. (Al (By=(1): (Cy-(IV): (D))

Options :
920906107721. 1



920906107722. 2
920906107723. 3
920906107724. 4

Question Number : 31 Question Id : 92090627261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A | & 91y Tl 1 BT HaE Sifse

- G-I

(AT 3R IR-EIH (SaTE0)
Wl & UPR)
(A) | AT @R () | @Y ewriigpdes UIidadd & 3= Hdhgul
aral fevaH

(B) | wife® udg an | 9@
(C) | BaH WIfe® yarg 1y | Gef<d M
D) | el (f&dde) uae | (v) | eRgdaissy &1 Uhsd fSwri

= feu mu fasedi O @ 9 IR &1 94 P
1. (AI); (B)-(); (©-(V); (D))
2. (A-(I; (B)-(IV); (C)=(1); (D)1
3. (A1) B)(I; (©-V); (D))

4. (A-(I; (B)(1); (C—(V); (D)-()

Options :

920906107721. 1
920906107722. 2
920906107723. 3
920906107724. 4

Question Number : 32 Question Id : 92090627262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The velocity of sedimentation of a uniform collection of spherical particles of
suspension is governed by Stoke's law. The rate of sedimentation as per Stoke's
law is inverse function of

1.  Viscosity of dispersion medium

2. Particle size of dispersed phase

3.  Acceleration due to gravity

4.  Difference of the densities of dispersed phase and dispersion medium
Options :

920906107725. 1
920906107726. 2
920906107727. 3
920906107728. 4

Question Number : 32 Question Id : 92090627262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fdea & Tl ®U & UHEY Hhad & AUEidol &1 3 €y 99 gri
SHRd gia1 81 Terd & W & SFAER Saueiay & o) [bad! [dam
ua?rzi%:

1. fOupIRd Arend &1 g

2. [aEmivd =) &1 60l MHR

3. Tod & BRI

4. faemIivd =R 3R faewTid Arean & 49l & o ofaR

Options :

920906107725. 1
920906107726. 2
920906107727. 3
920906107728. 4

Question Number : 33 Question Id : 92090627263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following material can be used as glidant, lubricant as well as anti-
adherent?

1. Lactose

2. Starch

3. Magnesium stearate
4.  Polyethylene glycol

Options :

920906107729. 1
920906107730. 2
920906107731. 3
920906107732. 4

Question Number : 33 Question Id : 92090627263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa & ¥ &g gl &1 Iuan WisSe, 98 & Iry-9ry o

1. oaeN

2. ®WH

3. HEifeEm e

4. UICGUTSE Temgerd
Options :

920906107729. 1
920906107730. 2
920906107731. 3
920906107732. 4

Question Number : 34 Question Id : 92090627264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bancroft's rule is related to determination of
1. suspension type

2. emulsion type
3. ointment type
4. tablet type

Options :

920906107733. 1
920906107734. 2
920906107735. 3
920906107736. 4

Question Number : 34 Question Id : 92090627264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dBdmey & o fead Fufor  defa g
1. FAdfeaver
2. UG USR
3. ddUSR
4. T9UC UBR
Options :

920906107733. 1
920906107734. 2
920906107735. 3
920906107736. 4

Question Number : 35 Question Id : 92090627265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Avicel is a trade name of

1.  Polyvinyl Pyrralidone (PVP)

2. Cellulose Acetate Phthalate (CAP)
3.  Micro-crystalline Cellulose (MCC)
4. Lactose

Options :

920906107737. 1
920906107738. 2
920906107739. 3
920906107740. 4

Question Number : 35 Question Id : 92090627265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Udid fhuedT SeHID § -
1. Ulefifarge uRRieiSArg (didid)
2. AguN udiRe wide (diudh)
3. AEw-hedsd Sqard (THER)
4, wheH

Options :

920906107737. 1
920906107738. 2
920906107739. 3
920906107740. 4

Question Number : 36 Question Id : 92090627266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following instruments are used for particle size analysis :
A. Coulter counter
B. Microscopic methods
C. Sieving
D. IR spectroscopy
Choose the correct answer from the options given below :

1. A, DandC only

2. A ,BandD only

3. A, BandConly

4. B, CandD only
Options :

920906107741. 1
920906107742. 2
920906107743. 3
920906107744. 4

Question Number : 36 Question Id : 92090627266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad JusRul & 9 S 3eR faayul 3 o fwest IuanT feg | g -
A Bl FEXR
B. &Heuiy faftmf
C. difgn
D. 3SR Wach !

1 feu U faeedi A ¥ Hel I &1 944 Hifei

1. @ddA D3RC
2. HdAA B3RD
3. PAdA B3RC

4., HddB,C3RD



Options :

920906107741. 1
920906107742. 2
920906107743. 3
920906107744. 4

Question Number : 37 Question Id : 92090627267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Partition coefficient (log p) of various drugs can be determined using

1. Reverse phase evaporation

2.  Shake-flask method
3. Coacervation phase separation technique
4. Wet granulation

Options :

920906107745. 1
920906107746. 2
920906107747. 3
920906107748. 4

Question Number : 37 Question Id : 92090627267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁrﬂﬁgﬁqiﬁﬂﬁﬂm%ﬂmﬁtlcg p) &g ugm s Fuila fea o
Hebhdl & :

1. SgGhH TR aTsdIcoi

2.  YIH-UR fafy
3. YREH =Ry faeE deHie
4. ofTg HIRA

Options :

920906107745. 1
920906107746. 2
920906107747. 3
920906107748. 4



Question Number : 38 Question Id : 92090627268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Noyes Whitney equation is used to describe
1.  Absorption
2. Metabolism
3. Dissolution
4.  Distribution

Options :

920906107749. 1
920906107750. 2
920906107751. 3
920906107752. 4

Question Number : 38 Question Id : 92090627268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATgy st Tt &1 U feyeT faavu 24 # frar A g

1. 3yl

2. 9gI9Eyg

3. fages

4. faoRo
Options :

920906107749. 1
920906107750. 2
920906107751. 3
920906107752. 4

Question Number : 39 Question Id : 92090627269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Considering apothecary system 300 minims of the fluid is equal to
1. 1 Pint
2. 5 fluid drachms
3. 1 fluid ounce
4. 1 gallon

Options :

920906107753. 1
920906107754. 2
920906107755. 3
920906107756. 4

Question Number : 39 Question Id : 92090627269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |y et 1 &1 HaE S (Ar3e ydifedl ©f §oa-adl Jadohie d 9g-
Hefd HL1)

- g
(Carr BT (%)] [FdTE &1 UPR]
(A) | 1-10 () | 33
(B) | 11-15 (1) | AP-B1h/ HdueTh
(©) |32-27 (i | Ipy
(D) | 16-20 (Iv) | Sgd TE

A fau 7T faep el 7 | el IR &1 98 Hifew:
1. (A=) B} (CHIV); (D))
2. (A (B)HN; (C-(); (D)HIV)
3. (A-(V); (BHD); (C)-(l); (D))

4. (AHD); (BIV); (C(I); (D))

Options :

920906107753. 1
920906107754. 2
920906107755. 3



920906107756. 4

Question Number : 40 Question Id : 92090627270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the amount of 20% w/w benzocaine ocintment required
to be added to a suitable diluent ointment to prepare 5 kg of a 2.5% w/w
benzocaine cintment?

1. 2kg

2. 6.25gm

3. 62.5gm

4. 625gm
Options :

920906107757. 1
920906107758. 2
920906107759. 3
920906107760. 4

Question Number : 40 Question Id : 92090627270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.5% w/w 113 faay &1 5 bl duR & & o Ifed faamas fadu o Siet
W aTel 20% w/w Sl faey &1 sawas A FafafEa 3 9w g2

1. 2fea

2. 6.257MH

3. 625YUMH

4. 625UMH
Options :

920906107757. 1
920906107758. 2
920906107759. 3
920906107760. 4

Question Number : 41 Question Id : 92090627271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List—| with List=II :

List-I List-l
(Immunoglobulins) (Details)
(A) | 1gG (I) | Largely confined to blood
stream
(B) | IgE (1) | Serum on lymphocyte surface

of new born baby

(C) | lgM (I1) | Internal body fluids
(extravascular)

(D) | IgD (IV) | Serum

Choose the correct answer from the options given below :
1. (A=) (By=(1): (C)(1): (D)-(IV)
2. (A1) (B)HIT); (Cy(H); (DIIV)
3. (A1) (B)H1IV): (C)=(1); (D)=(11)

4. (A(); (B)-IV); (C)-(Ilt); (D))

Options :

920906107761. 1
920906107762. 2
920906107763. 3
920906107764. 4

Question Number : 41 Question Id : 92090627271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gal | & 91y Gl 1| 1 e Fiforg:

- Tl
(FFgAREIE) (faazon)
(A) | IgG () | WREdn T drfe-t da Hifra
(B) | IgE (1) | Agard 9y & RR &1
fordiaTSe Sag R dd
(€) | IgM (1) | 3fidie S gdaRd
EIRRER)
(D) | IgD (v) | ad

= fau e fadedl § § Ul IR &1 994 DI
1. (A (B)=(1); (1) (D)1IV)
2. (AHD; (B)YHI); (CH(1); (D)HIV)
3. (A (BYHIV); (CH(1); (D))
4. (A (B)(IV): (C)—(H); (D))

Options :

920906107761. 1
920906107762. 2
920906107763. 3
920906107764. 4

Question Number : 42 Question Id : 92090627272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List-ll (correlate the powder flowability with compressibility
index):

List- List—I
[Carr Index (%)] [Type of flow]
(A) | 1-10 (I) | Good
(B) | 11-15 (Il) | Fair
(C) | 32-27 (ll) | Excellent
(D) | 16-20 (IV) | Very poor

Choose the correct answer from the options given below :

1. (A(I); (B)(1): (CIIV): (D)1

2. (A(I); (B)1): (CI(1I); (D)-(IV)
3. (A(V); (B)(I): (C)-(llt); (D)~(lI)
4. (A(); (BIIV): (C)=(ll); (D)1l
Options :

920906107765. 1
920906107766. 2
920906107767. 3
920906107768. 4

Question Number : 42 Question Id : 92090627272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 9 gl 1 @ HEE S (AdsY Udifedl &1 Spa-iad] Ya-is 9 Hg-
Hdftrd $31)

g g
[Carr YIS (%)] [UdTe &1 U]
(A) | 1-10 () | o=
(B) | 11-15 () | BlF-81h/ Jdug-d
(€) |32-27 (i | IHy
(D) | 16-20 (Iv) | 9gd &E

e fau e fasp ot 7 9 gl IR &1 9594 Sifg:
1. (A (B)=(1); (CH(V); (D))
2. (A (B)1); (C(11); (D)H1IV)
3. (A(V); (BA1); (C)—(n); (D))
4. (AHD); BV (Cr(I); (D))

Options :

920906107765. 1
920906107766. 2
920906107767. 3
920906107768. 4

Question Number : 43 Question Id : 92090627273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : For a chemical reaction to occur, it is necessary for the
molecules involved to possess a certain minimum amount of
energy.

Reason (R) : Activation energy can be thought of as an energy barrier to a
reaction.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

920906107769. 1
920906107770. 2
920906107771. 3
920906107772. 4

Question Number : 43 Question Id : 92090627273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 31 YA U MU §: US USHUA (Assertion A) F w0 H faled § o ga 39
DR (Reason R}?ﬁmﬂ;

APy A - Bl TAE sififea & gfed 99 & e g smawa® g &
ufchar & Sfeerd Su[sfl & Ur Sl &1 Siaqg <LAad JET 611

FRUR : ﬁéﬁﬁﬁﬁ#@ﬁﬁﬁﬂﬂ%ﬂﬁé@ﬂ
I el

IR $YF $ 3fTaiid |, A2 ST 70 fadedl 7 8 9ad Suged IR &1 90 Difoig
(1) A SR REH L § SRR A D] TSI S &
(2) A SR RGH Tl € AMB R, A DI el A T8l &

3) AYElIg, dfbd R UEI el &
(4) AWGIEl g AfbdRUS B

Options :



920906107769. 1
920906107770. 2
920906107771. 3
920906107772. 4

Question Number : 44 Question Id : 92090627274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Propantheline has been found to reduce absorption rate of

1. Riboflavin

2. Sulfamethoxazole

3. Riboflavin and sulfamethoxazole
4. None of the above

Options :

920906107773. 1
920906107774. 2
920906107775. 3
920906107776. 4

Question Number : 44 Question Id : 92090627274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WOTaTS fhaed! sfa=myu X § &l $d1 ¢ :
1. ZEGAEE
2.  YUapHYIISTA
3. URdifa 3R SepTHYIdETSIE
4. TAHAADE TR

Options :

920906107773. 1
920906107774. 2
920906107775. 3
920906107776. 4



Question Number : 45 Question Id : 92090627275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following class of drugs is not OTC product?

1. Cough and cold remedies

2. Analgesics

3. Antiseptics

4. Anti-hypertensive drugs
Options :

920906107777. 1
920906107778. 2
920906107779. 3
920906107780. 4

Question Number : 45 Question Id : 92090627275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 7 9 S siufd goft It Sare 48 82

1.  9EMIUER
2. U@
3. TS gfarid

4. I TaqE Teft gund

Options :

920906107777. 1
920906107778. 2
920906107779. 3
920906107780. 4

Question Number : 46 Question Id : 92090627276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Cefuroxime axetil is an oral form of the first generation
parenteral cephalosporin cefuroxime.

Reason (R) : The axetil form of the drug, an acetoxy ethyl ester of
cefuroxime has increased lipid solubility, better absorption
and oral bioavailability.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906107781. 1
920906107782. 2
920906107783. 3
920906107784. 4

Question Number : 46 Question Id : 92090627276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107781. 1
920906107782. 2
920906107783. 3
920906107784. 4

Question Number : 47 Question Id : 92090627277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hair follicle is usually present in which layer of skin?

1. Epidermis

2. Dermis

3. Subcutaneous tissue
4.  All of the above

Options :

920906107785. 1
920906107786. 2
920906107787. 3
920906107788. 4

Question Number : 47 Question Id : 92090627277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

G AR @91 Bt {59 wRd H e g g

1. uftsifuysfeed

2. siHu/ad

3. YT Fddb

4. AHIATH
Options :

920906107785. 1
920906107786. 2
920906107787. 3
920906107788. 4

Question Number : 48 Question Id : 92090627278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The part of the prescription called inscription contains

1.  Name, Age

2.  Signature, Address

3. Name and quantity of ingredients

4. Registration number and patient information
Options :

920906107789. 1
920906107790. 2
920906107791. 3
920906107792. 4

Question Number : 48 Question Id : 92090627278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. AW, 3
2. TEIER, Udl

3. AW 3R 3Ny ddl B HE
4. Uollhur EEAT 3R I FIAT

Options :

920906107789. 1
920906107790. 2
920906107791. 3
920906107792. 4

Question Number : 49 Question Id : 92090627279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The test performed to detect the presence of pyrogenic substances in parenteral
products

1. Leak Test

2. Water Attack Test

3. LAL Test

4. Powdered Glass Test

Options :

920906107793. 1
920906107794. 2
920906107795. 3
920906107796. 4

Question Number : 49 Question Id : 92090627279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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el UEia -

1. | gdigm

2. Old S{THHU Udtequ
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4. Udss (gfofd) T udiem
Options :
920906107793. 1
920906107794. 2

920906107795. 3
920906107796. 4

Question Number : 50 Question Id : 92090627280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pyrogens are

1.  products of metabolism of micro-organisms

2. alink between living and non-living
3. aspecial type of bacteria
4. aspecial type of virus

Options :

920906107797. 1
920906107798. 2
920906107799. 3
920906107800. 4

Question Number : 50 Question Id : 92090627280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS g :
1. Y&H-Slldl & 9UEEd & IdG
2. Holld 3R Folia & dffg &3t
3. ©lidI &1 U fquy e
4, faum &1 U {99y bR

Options :

920906107797. 1
920906107798. 2
920906107799. 3
920906107800. 4

Question Number : 51 Question Id : 92090627281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electrophilic addition to an unsymmetrical alkene is governed by
1. Saytzevrule
2.  Markovnikov rule
3. Blanc’s rule

4. CIPrules

Options :

920906107801. 1
920906107802. 2
920906107803. 3
920906107804. 4

Question Number : 51 Question Id : 92090627281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107801. 1
920906107802. 2
920906107803. 3
920906107804. 4

Question Number : 52 Question Id : 92090627282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the INCORRECT statement?

1. Dopamine can exist as trans, a-rotamer, trans, f-rotamer and cis,
a-rotamer.

2. Selegiline and Rasagline are selective irreversible inhibitors of
MAO-B.

3. Tolcapone and entacapone are reversible COMT inhibitors.

4.  Serine is the precursor of Dopamine biosynthesis.

Options :

920906107805. 1
920906107806. 2
920906107807 3
920906107808. 4

Question Number : 52 Question Id : 92090627282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107805. 1
920906107806. 2
920906107807 3
920906107808. 4

Question Number : 53 Question Id : 92090627283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The functional catalytic unit of estric site at acetylcholinesterase is composed of

1.  Glutamate, histidine, tryptophan

2. Glutamate, tyrosine, lysine

3. Glutamate, tyrosine, phenylalanine

4. Glutamate, histidine, serine
Options :

920906107809. 1
920906107810. 2
920906107811. 3
920906107812. 4

Question Number : 53 Question Id : 92090627283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. ugede, feEisy, iR

Options :

920906107809. 1
920906107810. 2
920906107811. 3
920906107812. 4

Question Number : 54 Question Id : 92090627284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the false statement

1.  Hard electrophiles have a formal positive charge at the electrophilic
centre (e.g. carbocations).

2.  The softest biological nucleophilic sites are cysteine thiol groups on
proteins.

3. Primary and secondary amino groups of lysine and histidine on the
proteins are hard nucleophiles.

4. Softest nucleophiles are the oxygen atoms of purines and pyrimidines
on DNA and RNA.

Options :

920906107813. 1
920906107814. 2
920906107815. 3
920906107816. 4

Question Number : 54 Question Id : 92090627284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107813. 1
920906107814. 2
920906107815. 3
920906107816. 4

Question Number : 55 Question Id : 92090627285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Glutathione (GSH) conjugation takes place by

1.  Electrophilic attack by GSH on nucleophilic carbon of drugs

2. Nucleophilic attack by GSH on electrophilic carbon of drugs
3. Photochemical reaction of GSH with the drug molecule
4.  lonic reaction of GSH with the drug molecule

Options :

920906107817. 1
920906107818. 2
920906107819. 3
920906107820. 4

Question Number : 55 Question Id : 92090627285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107817. 1
920906107818. 2
920906107819. 3
920906107820. 4

Question Number : 56 Question Id : 92090627286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the correct statement about drug metabolism?
1. Phenobarbital and rifampin are inducers of CYP450.

2. Cigarette smoking leads to decrease in the CYPIAI and CYPIA2
levels.

3. Cimetidine is the only H, antagonist that induces CYP450.
4.  17u-ethinyl oestradiol is non-mechanism based inhibitor of CYP450.

Options :

920906107821. 1
920906107822. 2
920906107823. 3
920906107824. 4

Question Number : 56 Question Id : 92090627286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107821. 1
920906107822. 2
920906107823. 3
920906107824. 4

Question Number : 57 Question Id : 92090627287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the most stable conformation of acetylcholine?

QAcC
H H
1.
H H
N(CHa)

F 5

L

OAc
o
N(CH3),
.
H
H
OAC
&
(HsC)N H
3.
H H
H

HOAc

4. H%@H
[
i N(CHa),

Options :



920906107825. 1
920906107826. 2
920906107827. 3
920906107828. 4

Question Number : 57 Question Id : 92090627287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107825. 1
920906107826. 2
920906107827. 3
920906107828. 4

Question Number : 58 Question Id : 92090627288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Levorphanol (1) and dextrorphan (Il) are sterecisomers of each other. ldentify the
true statement about | and Il.

1. |is analgesic whereas Il is antitussive

2. |is anticancer whereas |l is antimalarial

3. |is antifungal whereas |l is cardiovascular agent
4. |is neurotropic whereas |l is antidepresent

Options :

920906107829. 1
920906107830. 2
920906107831. 3
920906107832. 4

Question Number : 58 Question Id : 92090627288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AARBATE (1) 3R STHURB WER R RASmEEHH (1) 81 (1) 3R (1) $ IR # 9d
HYF DI UG B

1. | UEaRIE 8 g8l Il S g1
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Options :

920906107829. 1
920906107830. 2
920906107831. 3
920906107832. 4

Question Number : 59 Question Id : 92090627289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Atropine has served as a prototype molecule for which class of drugs?

1.  Anti-anginal

2. Anti-diabetic

3.  Anti-cholinergic

4.  Anti-infective
Options :

920906107833. 1
920906107834. 2
920906107835. 3
920906107836. 4

Question Number : 59 Question Id : 92090627289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107833. 1
920906107834. 2
920906107835. 3
920906107836. 4

Question Number : 60 Question Id : 92090627290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Generally a steroidal skeleton contains
1. Ring A
2. RingAandB
3. RingA,BandC
4. RingA,B,CandD

Options :

920906107837. 1
920906107838. 2
920906107839. 3
920906107840. 4

Question Number : 60 Question Id : 92090627290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. dodA
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Options :

920906107837. 1
920906107838. 2
920906107839. 3
920906107840. 4

Question Number : 61 Question Id : 92090627291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the possible drug-receptor interactions?
1. Arene-cation
2. Hydrogen bonding
3. m-mn stacking
4.  All of the above

Options :

920906107841. 1
920906107842. 2
920906107843. 3
920906107844. 4

Question Number : 61 Question Id : 92090627291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHITET S9Y-UT Sfaferand o1 §?
1. WHAFHIHE
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4. G
Options :

920906107841. 1
920906107842. 2
920906107843. 3
920906107844. 4

Question Number : 62 Question Id : 92090627292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Hydrolysis of sec-butyl acetate yields sec-butanol with some
rotation but with opposite sign.

Reason (R) : Sy2 reaction goes with inversion of configuration at carbon
atom under attack.

In the light of the above statements, choose the correct answer from the options
given below.

1.  Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

920906107845. 1
920906107846. 2
920906107847. 3
920906107848. 4

Question Number : 62 Question Id : 92090627292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 3 FYA QU §: UF HHYT (Assertion A) F F9 ¥ fAifEd g o gE1 396
U (Reason R) & &Y ﬂ;

HUPYT A : AH-gerd THIET & grgaifal I I Ih0l & WY b-geHd
Wit gidn & far=g T faudia aba & Y ufed gian 81

HRUIR - Sp2 Siffehar spHuN Hre- A R ™ & Jam |
EoiEd

SIS $YF & 3Tl H, - 30 M0 fladwedl # I Wl I &1 999 Difore
(1) A SR RGH TGl € SR R A P Tgl B &

(2) ASRRIH TEl ¢ AP R, A D! el AT el &

(3) AYEE ARG R B

(4) AGEITEIE, AP R @

Options :
920906107845. 1



920906107846. 2
920906107847. 3
920906107848. 4

Question Number : 63 Question Id : 92090627293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are incorrect statements :

A.  Chromatographic techniques are used for the separation of mixture
of chemical compounds.

B. Gas chromatography can be used for those chemical compounds
which decompose at high temperatures.

C. Menthol can be determined using UV spectroscopy.

D. Infrared spectroscopy is used to determine and identify the functional
groups present in a chemical compounds.

E. Proton NMR is used to determine the arrangement of hydrogen in a
chemical compound.

Choose the correct answer from the options given below :
1. AandBonly
2. EandB only
3. CandD only

4. DandAonly
Options :
920906107849. 1
920906107850. 2
920906107851. 3
920906107852. 4

Question Number : 63 Question Id : 92090627293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafEag § 3 199 3™ HYF 82

A IS AT & Hsor &1 3 H & e quifdg de-is! &
JUA faea1 S g

B. 3= duHMl R faufed g ara I iffte! & feru 7 guifasm
&1 IUTNT fosgn o gan 81

C. gdl Mgl & IudnT ¥ HYd &1 Fufivd foar o g&ar g1
D. M diffiel & Iuftyd sEifes FHgl i FAuiRa iR [ifEd 3

& foTu e Wb 14t Ugad gicll 81

E. YRS 9ife d greele & Adwl Fuiitd 33 & fu dieA
TATHSR W gl 8

A9 fau T faspedl & 9 UEl IR &1 994 Sifoig :

1. PAdARB

2. PHAAESRB

3. HAAC3RD

4, FAADIRA

Options :

920906107849. 1
920906107850. 2
920906107851. 3
920906107852. 4

Question Number : 64 Question Id : 92090627294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the true statement:

A. Phenylephrine has less « and [} activity than norepinephrine.

B. Metaproterenol is selective p,-agonist.

C. Norepinephrine is immediate precursor of dopamine.
D. Dopamine has very good oral activity.
Choose the most appropriate answer from the options given below :

1.  AandB only

2. CandD only
3. A, BandConly
4. Donly

Options :

920906107853. 1
920906107854. 2
920906107855. 3
920906107856. 4

Question Number : 64 Question Id : 92090627294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafefEa 7 9 -8 9a €2
A TAGEBIE # ARUBAEIEA B a1 # BH o 3R p fafafd gt 81
B. e 9aid B, -wiFw g
C. A RURZAHRIEA, SUTHEA &1 Feead g g
D. SR ¥ §gd dga? Hifg® Tfafafd g1
4 feu e faspedl # @ U8l IR &1 994 B :

1. &dd AJRB

2. &dd C3MRD

3. dd A B3IRC

4 HAA D
Options :

920906107853. 1
920906107854. 2
920906107855. 3
920906107856. 4

Question Number : 65 Question Id : 92090627295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : Non aqueous titration is suitable for the titration of very weak

acids and bases and provides a solvent in which organic
compounds are soluble.

Statement—Il : Acetic acid is most commonly used in the procedure of non

aqueous titration of organic bases with perchloric acid.

In the light of the above statements, choose the most appropriate answer from
the options given below.

i

e

Both Statement—I| and Statement—I| are correct
Both Statement—I and Statement—I| are incorrect
Statement—I is correct but Statement—I| is incorrect

Statement—I| incorrect but Statement—Il is correct

Options :

920906107857. 1
920906107858. 2
920906107859. 3
920906107860. 4

Question Number : 65 Question Id : 92090627295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A By RUME:
DY . 9EG g 3! AR &R & A b o1 TR wellg SaH Ifad g aul

U1 [qaa® WeH $Rdl ¢ foras e aifiTe Ye-=ia & |

HY Il : RIS 3T b WY BlaHD &RI & TR I A DI Ufehar &

wHifess sne waffied e g 21

JSRIF $YA & 3did |, Aid [GU 0 Al & 9 9l 3o 99+ Hiforg

(4)

Q1 HYA 19 HUA 1 S TS §
B BYA 1 d BY 11 ST T §
FY | Uel [ HYF 11 Td &
HY | Ted fobg HY 1| T8l &

Options :
920906107857. 1



920906107858. 2
920906107859. 3
920906107860. 4

Question Number : 66 Question Id : 92090627296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Cocaine and procaine are benzoic acid derivatives and both
are known to cause allergic reactions.

Statement—Il : Structurally, cocaine contains tropine nucleus, whereas
procaine doesn't

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I and Statement—II| are incorrect

3. Statement—I is correct but Statement—II is incorrect

4. Statement—I incorrect but Statement—I| is correct
Options :

920906107861. 1
920906107862. 2
920906107863. 3
920906107864. 4

Question Number : 66 Question Id : 92090627296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107861. 1
920906107862. 2
920906107863. 3
920906107864. 4

Question Number : 67 Question Id : 92090627297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

List-—I List=lI

(A) | Six membered-oxygen containing () | Pyran
compound

(B) | Five-membered-nitrogen containing | (ll) | Triazole

(C) | Six-membered-nitrogen containing (1) | Pyrimidine

(D) | Xanthine nucleus (IV) | Caffeine

Choose the correct answer from the options given below :

1. (A1) (B)=(I); (C)-(I); (D)~(1V)

2. (A=) (B)=(1); (CH(IV); (D)=(11)

3. (A)-(II); (B)-(1): (C)~(I): (D}-(IV)

4. (A(IV); (B)=(I); (C)=(1); (D)=(1)
Options :

920906107865. 1
920906107866. 2
920906107867. 3
920906107868. 4

Question Number : 67 Question Id : 92090627297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y gt || 61 e Sifer:

- Gl
(A) | B8 TeRig-HTfieq siadeq aifiie () | IERA
(B) | UTd Hewitd — A13cioF SiqayH diffte | (1) | Rsmeia

(€) | B8 TeE-STIoH fdcde (1) | IrERifsEa
(D) | S Fwd (V) | FBH
=T feu e fawedl & 9 98l IR &1 994 DI

1. (AD); (B)=(1); (C-(); (D)HIV)

2. (A (B)(1); (CIV); (D)1
3. (A; (B (C=(); (D)-(IV)
4. (A-(V); (B(I); (CH(I); (D)D)

Options :

920906107865. 1
920906107866. 2
920906107867 3
920906107868. 4

Question Number : 68 Question Id : 92090627298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

List-I List-lI
(A) | Grignard reagent (1) | RoCulLi
(B) | Gilman reagent (1) | RMgXx

(C) | Benzyne mechanism | (lll) | 2 molecules of
CH5CHO

(D) | Aldol condensation (IV) | Sn Ar

Choose the correct answer from the options given below :

1. (A1) B)(I): (C)-(I); (D)~(IV)

2. (A-(I); (B)-=(1): (C)-(IV); (D))

3. (A(); (BY-(I); (C)-(1): (D)-(IV)

4. (A}(I); (BYAD; (CH(IV); (D)=(11)
Options :

920906107869. 1
920906107870. 2
920906107871. 3
920906107872. 4

Question Number : 68 Question Id : 92090627298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y gt 11 &1 firdq Fifer:

gl e
(A) | TS g: siftrade () | RyCuli
(B) | FrereH g eifisd () | RMgX

(C) | <ol vt (Il) | CHyCHO & 2 3(1]
(D) | UASTd Ha=H (IV) | Sn Ar
ia fau 7Ty fawedl T 9 5l IR &1 954 S

1. (A (B)(ID; (C-(1); (D)-1V)
2. (AHI; B)—(1); (C-(V); (D))
3. (A @)= (1) (D-IV)
4. (A (B)H); (QHIV); (D))

Options :

920906107869. 1
920906107870. 2
920906107871. 3
920906107872. 4

Question Number : 69 Question Id : 92090627299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statement with regard to acidity and basicity of substances
1. An acid is a species having a tendency to accept a proton

2. A base is a species having a tendency to lose a proton
3. pHis the negative logarithm of the H;O™ concentration

4. Stronger the acid, the stronger its conjugate base

Options :

920906107873. 1
920906107874. 2
920906107875. 3



920906107876. 4

Question Number : 69 Question Id : 92090627299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui #i 3firaar 3R &Igdl & Jdy § 3 $YF &1 UgdH &Y
1. U 3 dg Uuifa fafmydar & oud v e wWier @ wafy 8t 81

2 %&éﬁ%mﬁﬁmﬂ%mwmﬁ%ﬁmaﬁm
|

3. Ph, H;O" TigUl &1 THRHA
4, 3% foraH 3iieies Heldd g1, SHDT TYH YR Id-T g1 WL gI|

Options :

920906107873. 1
920906107874. 2
920906107875. 3
920906107876. 4

Question Number : 70 Question Id : 92090627300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following drug is used as inhalational anaesthetic
1. Diazepam
2. Midazolam
3. Etomidate
4. Nitrous oxide

Options :

920906107877. 1
920906107878. 2
920906107879. 3
920906107880. 4

Question Number : 70 Question Id : 92090627300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fafafaa siwfd &1 v yoes Fside & &4 # f&a S gl

1. SEYUH

2. usSieH

3. gcmWise

4. HECY AINES
Options :

920906107877. 1
920906107878. 2
920906107879. 3
920906107880. 4

Question Number : 71 Question Id : 92090627301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following benzodiazepines is a short acting sedative hypnotics?

1. Flurazepam

2. Diazepam

3. Temazepam

4. Lorazepam
Options :

920906107881. 1
920906107882. 2
920906107883. 3
920906107884. 4

Question Number : 71 Question Id : 92090627301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TRRISUH

2. SIguum™

3. CHNUM

4,  WRMSYH
Options :

920906107881. 1
920906107882. 2
920906107883. 3
920906107884. 4

Question Number : 72 Question Id : 92090627302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The major inhibitory amino acid neurotransmitter in mammalian CNS is
1. Glucose
2.  Sodium ion
3. GABA

4. Serotonin

Options :

920906107885. 1
920906107886. 2
920906107887. 3
920906107888. 4

Question Number : 72 Question Id : 92090627302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TR

2. wifgaw

3. died

4. RRIEAEA
Options :

920906107885. 1
920906107886. 2
920906107887. 3
920906107888. 4

Question Number : 73 Question Id : 92090627303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In steroidal aglycone portion of cardiac glycosides

1. Rings A-B and C-D are cis-fused, whereas rings B-C have a trans
configuration

2. Rings A-B and C-D are trans-fused, whereas rings B-C have a cis
configuration

3. Rings A-B, B-C and C-D are trans fused
4. Rings A-B, B-C and C-D are cis fused

Options :

920906107889. 1
920906107890. 2
920906107891. 3
920906107892. 4

Question Number : 73 Question Id : 92090627303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIIETR TS ESY & WATSAd TIASR A HIT H
1. 399 A-B 3R C-D Riu-w=s €, 981 9o B—C ¥ ¥ fa=ard g 81
2. g A-B 3R C-D - g, vidie aad B-C # R A= giar 81
3. ddd A-B, B-C 3R C-D T W= §|
4, 999 A-B, B—C 3R ¢-D R-u= €|

Options :

920906107889. 1
920906107890. 2
920906107891. 3
920906107892. 4

Question Number : 74 Question Id : 92090627304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following anti-fungal drug is effective in treating kala-azar?
1.  Paromomycin
2.  Amphotericin B
3. Miltefosine

4.  Sodium stibogluconate

Options :

920906107893. 1
920906107894. 2
920906107895. 3
920906107896. 4

Question Number : 74 Question Id : 92090627304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. URHAWGH

2. Ui B

3. mewiE

4. Wifsgn CeErgsHe
Options :

920906107893. 1
920906107894. 2
920906107895. 3
920906107896. 4

Question Number : 75 Question Id : 92090627305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
First-line antiretroviral regimens for adults is

1.  Tenofovir + Lamivudine + Efavirenz

2.  Lopinavir + Darunavir + Ritonavir

3. Atazanavir + Tenofovir + Efavirenz

4.  Abacavir + Lamivudine + Stavudine
Options :

920906107897. 1
920906107898. 2
920906107899. 3
920906107900. 4

Question Number : 75 Question Id : 92090627305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. SABR + dIBEGSEA + ShIfav-
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4.  JSIBIAY + AAGSIZT + TIdS=ZA

Options :

920906107897. 1
920906107898. 2
920906107899. 3
920906107900. 4

Question Number : 76 Question Id : 92090627306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following anti-cancer drugs is orally active triazine methylating agent
and is also a drug of choice for glioma and other brain tumors?

1. Bendamustine

2. Docetaxel

3. Temozolomide

4. Cisplatin
Options :

920906107901. 1
920906107902. 2
920906107903. 3
920906107904. 4

Question Number : 76 Question Id : 92090627306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906107901. 1
920906107902. 2
920906107903. 3
920906107904. 4

Question Number : 77 Question Id : 92090627307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following drugs is NOT a first line anti-tubercular drug?
1. Isoniazid
2. Rifampin
3. Ethionamide
4. Pyrazinamide

Options :

920906107905. 1
920906107906. 2
920906107907 3
920906107908. 4

Question Number : 77 Question Id : 92090627307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. sHIvEfes

2. femiE

3. SUIRiAMES

4. URRIGHHAES
Options :

920906107905. 1
920906107906. 2
920906107907. 3
920906107908. 4

Question Number : 78 Question Id : 92090627308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a safer drug to be prescribed in diabetes during
pregnancy?

1.  Metformin

2. Sulfonylureas
3. Insulin

4. Repaglinide

Options :

920906107909. 1
920906107910. 2
920906107911. 3
920906107912. 4

Question Number : 78 Question Id : 92090627308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁq@wmwmmmmwwmm
7

1. AeEHIHA

2. UBMET

3. 3R

4. UREARS
Options :

9209061079009. 1
920906107910. 2
920906107911. 3
920906107912. 4

Question Number : 79 Question Id : 92090627309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following CNS stimulant is an analeptic drug?
1.  Strychnine
2. Picrotoxin
3. Doxapram
4. Cocaine

Options :

920906107913. 1
920906107914. 2
920906107915. 3
920906107916. 4

Question Number : 79 Question Id : 92090627309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. WOfEERA

2. fueeERE

3. SrEUH

4. HIfHA
Options :

920906107913. 1
920906107914. 2
920906107915. 3
920906107916. 4

Question Number : 80 Question Id : 92090627310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All bacteriophage having nucleic acid core covered by a protein coat known as

1. Capsid

2.  Envelope

3. Filament

4. Flagella
Options :

920906107917. 1
920906107918. 2
920906107919. 3
920906107920. 4

Question Number : 80 Question Id : 92090627310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®fUs

2. Fqam

3. feas

4. TeHEl
Options :

920906107917. 1
920906107918. 2
920906107919. 3
920906107920. 4

Question Number : 81 Question Id : 92090627311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which techniques is not used for preservation of food?

1. Canning
2. Tanning
3. Pasteurization
4.  Sterilization

Options :

920906107921. 1

920906107922. 2

920906107923 3
920906107924. 4

Question Number : 81 Question Id : 92090627311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. efFm

3. gl
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Options :

920906107921. 1
920906107922. 2
920906107923. 3
920906107924. 4

Question Number : 82 Question Id : 92090627312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Microorganism involved in production of Sausage food product
1. Lactobacillus Lactis
2. Enterobacter cloacae
3. Pediococcus cerevisiae

4. Lactobacillus thermophilus

Options :

920906107925. 1
920906107926. 2
920906107927. 3
920906107928. 4

Question Number : 82 Question Id : 92090627312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTirel @Y TG & G H Had Y&Hoia g |
1. ARy afey
2. EeUERR dETS
3. ufsgreey diifauss
4,  deNrbay YyHEEad

Options :

920906107925. 1
920906107926. 2
920906107927. 3
920906107928. 4

Question Number : 83 Question Id : 92090627313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Post marketing surveillance comes under clinical trial

1. Phase |l

2. Phasell

3. Phaselll

4. PhaselV
Options :

920906107929. 1
920906107930. 2
920906107931. 3
920906107932. 4

Question Number : 83 Question Id : 92090627313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AU uyrd TR fFafed craa & 9 @R & siara oirdl @

1. =R

2. O

3. TINOTI

4. ROV
Options :

920906107929. 1
920906107930. 2
920906107931. 3
920906107932. 4

Question Number : 84 Question Id : 92090627314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not used as adjuvants for preparation of vaccines?

1.  Aluminium salts

2. Lipid A

3. Glucose

4.  Muramyl peptides
Options :

920906107933. 1
920906107934. 2
920906107935. 3
920906107936. 4

Question Number : 84 Question Id : 92090627314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafEa # @ feast udr i i 3 fow tsge< & wu far S g2

1. UgwHaH dau

2. fafds A

3. PN

4. WA UPESH
Options :

920906107933. 1
920906107934. 2
920906107935. 3
920906107936. 4

Question Number : 85 Question Id : 92090627315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Collection of all RNA transcribed elements for a given genome is known as

1. Transcriptomics

2. Proteomics

3. Metabonomics

4. Metabolomics
Options :

920906107937. 1
920906107938. 2
920906107939. 3
920906107940. 4

Question Number : 85 Question Id : 92090627315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forlt wed SiiFm & foro ofy smuAn sftefad adl &1 Yead dedl § -

1. CiafhpIiHe

2. Wifedimay

3. AEEHIHE

4.  WeEEHT
Options :

920906107937. 1
920906107938. 2
920906107939. 3
920906107940. 4

Question Number : 86 Question Id : 92090627316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is NOT true about ‘endotoxins'?
1.  Endotoxins cannot form toxoids

2. Endotoxins are released from cell walls of lysed gram-negative
bacteria

3. Endotoxins are proteinaceous by chemical nature

4. Endotoxins are heat stable

Options :

920906107941. 1
920906107942. 2
920906107943. 3
920906107944. 4

Question Number : 86 Question Id : 92090627316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“UgelferT & e # FufHtEe § A s sy gg A
1. USIeTa, SRigey Afg o1 ¥ahd g

2. g?ﬁqm—mwmaﬁaﬁﬁmmﬁﬁrﬁmﬁ
|

3. Ugafe= e ufad § miefa ga ?)
4. USEledH S RR e

Options :

920906107941. 1
920906107942. 2
920906107943. 3
920906107944. 4

Question Number : 87 Question Id : 92090627317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Artemisinin is an antimalarial drug and chemically it is

1. Sesquiterpene lactone

2. Benzyl isoquinoline alkaloid

3. Steroidal alkaloid

4. Indolequinoline alkaloid
Options :

920906107945. 1
920906107946. 2
920906107947. 3
920906107948. 4

Question Number : 87 Question Id : 92090627317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRR Ueh HARIRITY i § 3R J9aHe U TE 6
1.  Uiepadith aeH

2. Sl fdHREA ehdlse
3. WRIUEd 3fchlss

4,  SSIAAEA fehlss

Options :

920906107945. 1
920906107946. 2
920906107947. 3
920906107948. 4

Question Number : 88 Question Id : 92090627318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cardenolides and bufadienolides are cardiac glycosides and chemically differ
with respect to

1.  Six or seven-membered lactone ring

2.  Five or six-membered lactone ring

3. Seven or eight-membered lactone ring

4.  Five or six-membered lactam ring
Options :

920906107949. 1
920906107950. 2
920906107951. 3
920906107952. 4

Question Number : 88 Question Id : 92090627318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DISAIAESY 3R THISAIAESY, PSP WEHBESY & AR IFAHAS 9 J

oy el & a1 &7
1. B U9 - Y@y daeH 9o
2. Uld Y198 - UeRig dacH 9y
3. W91 313 - GG W 9ad
4. UM U1 BE - Yeiig A9 Iag

Options :

920906107949. 1
920906107950. 2
920906107951. 3
920906107952. 4

Question Number : 89 Question Id : 92090627319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supercritical fluid chromatography utilises this supercritical fluid as a mobile
phase

1. CO
2. COs
3. SO
4.  NO,
Options :

920906107953. 1
920906107954. 2
920906107955. 3
920906107956. 4

Question Number : 89 Question Id : 92090627319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mm%ﬁamavfﬁsrﬂmaﬁaw%mﬁwmmmﬂm
gl

1. €O

5. 0

3. SO,

4. NO,
Options :

920906107953. 1
920906107954. 2
920906107955. 3
920906107956. 4

Question Number : 90 Question Id : 92090627320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—| with List-l :

List—I List-II
[Blood group type] | [Agglutinin (plasma antibody)]
(A) | O () |Anti-B
(B) |A (I1) | Anti-A
(C) | B (i) | Anti-A and Anti-B
(D) | AB (IV) | None

Choose the correct answer from the options given below :

1. (AD); (BN (CHIV); (D)-(11)

2. (AW(I); (B)=(IN): (C)-(IV); (D)~(1)
3. (A (B)1): (C)(I1): (D)(IV)
4. (A-(I): BX-(V): (CH(1); (D)=(IN)
Options :

920906107957. 1
920906107958. 2



920906107959. 3
920906107960. 4

Question Number : 90 Question Id : 92090627320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdt | & 91y gt 1 &1 fHeaE i

T G-I
R TG UPR] | [T @ieH Eeialsl]
(A) | O (n |&-8
(B) | A (ny |&-a
) |8 () | Tet-A SR T -B
(D) | AB (V) | BT el
- fag g faeredl J 9 Het STk 19U FIf:

1. (A(; (B (CHIV); (D)
2. (A)=(); (B)=(l); (C)(IV); (D)-(1)
3. (A-(); (B (©1); (D}-(V)
4. (A (B-(IV); (C(1): (D))

Options :

920906107957. 1
920906107958. 2
920906107959. 3
920906107960. 4

Question Number : 91 Question Id : 92090627321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following cognition enhancers is a NMDA antagonist?

1.  Donepezil

2. Galantamine

3. Rivastigmine

4. Memantine
Options :

920906107961. 1
920906107962. 2
920906107963. 3
920906107964. 4

Question Number : 91 Question Id : 92090627321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofaRaa SarTes Sadsl # A &H W NMDA TeriFRe § -

1. SHIfSd

2. HadcHH

3. famfenaEa

4, WHMECRA
Options :

920906107961. 1
920906107962. 2
920906107963. 3
920906107964. 4

Question Number : 92 Question Id : 92090627322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Opioid antagonist agent is
1. Methadone
2. Codeine
3. Pethidine

4. Naltrexone

Options :

920906107965. 1
920906107966. 2
920906107967 3
920906107968. 4

Question Number : 92 Question Id : 92090627322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ftaizs Germie usle 8
1. AYEH
2. SI8A
3. OfafEH
4. TIECHI
Options :

920906107965. 1
920906107966. 2
920906107967. 3
920906107968. 4

Question Number : 93 Question Id : 92090627323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Catecholamine are synthesized from the amino acid

1. Lysine

2. Glycine

3. Tryptophane
4. Phenylalanine

Options :

920906107969. 1
920906107970. 2
920906107971. 3
920906107972. 4

Question Number : 93 Question Id : 92090627323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hedhiamrg fay sl uidrs & dxafia feuena ¢ :
1. AR
2.  TAERE
3. e
4. TOBIAHEA
Options :

920906107969. 1
920906107970. 2
920906107971. 3
920906107972. 4

Question Number : 94 Question Id : 92090627324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Gold Beater’s Test is performed for determining the presence
of True tannins in a crude drug sample.

Reason (R) : Clove and Coffee contain pseudotannins.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)istrue but (R) is false

4. (A)is false but (R) is true

Options :

920906107973. 1
920906107974. 2
920906107975. 3
920906107976. 4

Question Number : 94 Question Id : 92090627324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 €1 YA U T §: UF HIUDHUA (Assertion A) & & H i@ § o 11 39&
DR (Reason R}afm ff;

HUBUT A :  Fs A T & arafas A @ Suffa Ruffa 60 & fm Te
faex gdteon Faofea o s g1

HRUIR: TN 3R HIB] S S g |
TR HYF F 3Tl |, 71 iU 70 fawed # ¥ g IugE I F1 999 Difere
(1) A SIR REHI Hel g 3R R, A I Fel ARA
) AR RIHIE g, Afb R, A B Ygl RS T §
3) AJel g dfdd R UE el o
(4) AWETEIE, APT RIS
Options :

920906107973. 1
920906107974. 2



920906107975. 3
920906107976. 4

Question Number : 95 Question Id : 92090627325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—] with List—II :

List—| List-II
(A) | Analeptic drug (1) | Morphine
(B) | Central depressants of motor | (Il) | Picrotoxin
function
(C) | Analgesic drug (Ill) | Tropane alkaloids
(D) | Hallucinogenic (IV) | Cannabis

Choose the correct answer from the options given below :

1. (A1) (BHIV); (C)=(l); (D))

2. (A)(I); B)(II); (C-(IV); (D)-()

3. (A (B)=(III); (C(1): (D)=(V)

4. (AHIV); B)1); (C)=(II); (D))
Options :

920906107977. 1
920906107978. 2
920906107979. 3
920906107980. 4

Question Number : 95 Question Id : 92090627325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & Ty Gl 1 BT HaE Sl

- gk
(A) | GRS Sy (1) |@H
(B) | 9@ U & By fadgd | (1) | fospreiRE
(C) | weratired fsfe (1) | ST SfplaTsS
(D) | BRI WD (v) | Ffew

e feu e faswed & 9 Ugt IR &1 99 B
1. (A); (B-IV); (O-(m); (D))
2. (A)(I); (B)y—(1); (C)(1v); (D))
3.0 (AHN; (BY-I; (1) (D-IV)
4. (A-(IV); (B (O~ (D}-()

Options :

920906107977. 1
920906107978. 2
920906107979. 3
920906107980. 4

Question Number : 96 Question Id : 92090627326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : For determination of leaf constants, only calculating stomatal
number is not sufficient. Stomatal index should also be
calculated.

Reason (R) : The number of stomata in a young leaf and matured leaves

are the same.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906107981. 1
920906107982. 2
920906107983. 3
920906107984. 4

Question Number : 96 Question Id : 92090627326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 31 YA fAU MU §: U DU (Assertion A) B &Y T fafad § o g1 39&
@R (Reason R}ﬂ‘imﬁ;

IMFYF A - Ut Fudie & FulRor & ol Haa Iye T8I &1 TUET ST 8l
it el &1 YUE gadbic & Hi Mo S afee)

HRUIR: Tt i uvies SiR ufkues quiet & Teres o1 Hwem 9aH gl 81
IS FYA & 3D H, 414 U 70 fasedl # 9 999 IUgHR] IR &1 T4 Difew

(1) A SR RGHI TEl & SR R A DI Hel AAT &

) ASIRREAEE §, AP R, A DI e AR ST ©
3) AUelg dfbIrISI el @

(4) AWElEI g, Al R ULl 8

Options :



920906107981. 1
920906107982. 2
920906107983. 3
920906107984. 4

Question Number : 97 Question Id : 92090627327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Vincristine and Reserpine are indole alkaloids.

Reason (R) : Tyrosine and Phenylalanine are the precursors for synthesis
of Indole alkaloids.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906107985. 1
920906107986. 2
920906107987. 3
920906107988. 4

Question Number : 97 Question Id : 92090627327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 31 YA QU T §: UF SHHBUA (Assertion A) F 9 H fofEd § @ g1 39
DU (Reason R}%Fﬂﬁ;

HUDBYT A« fFfreRT IR R, 3874 sepraissy 8

PRUIR: TERIRA 3R e @I, S8 Hehlaigey & ST & fag
gam g |

JUiad HY & 3fTclih H, g {30 U fadedl # 8§ 9ad Iugerd IR &1 994 Diforg

(1) A SR REHI HEl § AR R A D! Tel ARAT &

(2) A 3R RSHITE € Al R, A DI &l TS T8 &
(3) AWEE, AP R UG ¢

(4) AWEIEIE, APT R UL 8

Options :

920906107985. 1
920906107986. 2
920906107987. 3
920906107988. 4

Question Number : 98 Question Id : 92090627328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) @ Liebermann Burchard Test is positive for Digitalis, Dioscorea
and strophanthus.

Reason (R) : Digitalis, Dioscorea and strophanthus have sterol ring
containing chemical constituents.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :
920906107989. 1
920906107990. 2



920906107991. 3
920906107992. 4

Question Number : 98 Question Id : 92090627328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 31 HYA U U §: U S (Assertion A) b ¥9 T ffGd & dl g1 IS
hILU (Reason R}*F‘Iﬁ;

APy A - fEfefm smusifar R Tbug & fou e\ wars oo
TPRIAS gidl &

HRUR feforeforg, susifa 3R Wikug ¥ T9HiHe U & <de
g fevid aaa g 8

IRIad Y & 3HTcdlh H, AT 3T M0 fabed] 7 4 ol Iuged IR &1 I0- Hifoy

(1) AR RIH TG € SRR A DI gl ATST &

(2) AR REH Tel € AP R A DI el TS Ae] &
3) AWEIE AR UE TS

(4) AWEIEl g, Al R Ul 8

Options :

920906107989. 1
920906107990. 2
920906107991. 3
920906107992. 4

Question Number : 99 Question Id : 92090627329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II :

List—I List-Il

(A) | Senna (1) | Quinoline alkaloids

(B) | Cinchona () | Sennoside B

(C) | Turmeric (1) | Curcuminoids

(D) | Rhubarb (IV) | Chrysopharol

Choose the correct answer from the options given below :

1. (A1) B)=(II); (C)=(I); (D)-(IV)
2. (A(I); (B)=(I; (C(V); (D)~(1)
3. (A1) B)=(1); (C)=(lll); (D)~(IV)
4. (A)-(1); (B)-(IN); (C)~{IV); (D)~(Il
Options :

920906107993. 1
920906107994. 2
920906107995. 3
920906107996. 4

Question Number : 99 Question Id : 92090627329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & |1y g || &1 [ Sifeg:

g T
(A) | R () | S
S GARIEST

(8) | Ry Iy |JEIES B

(©) |Bfe () | FRPHATSH
(D) | = (V) | SRS

e feu e faspedl § 9 gl IR &1 9g- ST
1. (A (B)(I); (©-(h); (DIV)
2. (A (B)=(1); (C)(1V); (D)-(1)
3. (A (B)=(1); (©)—(I); (D)—(IV)

4. (A1) (BY{IN); (C1V); (D)1

Options :

920906107993. 1
920906107994. 2
920906107995. 3
920906107996. 4

Question Number : 100 Question Id : 92090627330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—II :

List—I List-II

(A) | Atropine (I) | Phenylalanine-derived alkaloid

(B) | Arabasine (1) | Lysine-derived alkaloid

(C) | Ephedrine (I11) | Ornithine-derived alkaloid

(D) | Strychnine (IV) | Tryptophan-derived alkaloid

Choose the correct answer from the options given below :

1. (A (B)=(I1); (C){1); (D}(IV)

2. (A=) (B)=(II); (C)=(1); (D)}=(IV)

3. (AI); (B(H); (CH(1); (D}-(IV)

4. (AN (B)=(I); (Cy=(11); (D}(IV)
Options :

920906107997. 1
920906107998. 2
920906107999. 3
920906108000. 4

Question Number : 100 Question Id : 92090627330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y it 11 &1 i Fifer:

i LG 1]

(A) | Tt (1) | PASATAHRA-3d AHehlales

(B) | TATEARA () | 9t - Idd Meplalss

(©) | sPg i) | 3ifRfelis - I srepraiss

(D) | RfARA (1v) | FRPIhH - I Sfehlalss

=12 fau U fasred! & 9 W5t IR &1 99 S
1. (A(); (B (S (DHIV)
2. (A)(0); (B)=(1); (Cy=(1); (D))
3. (A)(n); (B)=(ly; (C-1: (D))
4. (AD; (B (C-(); (DIHIV)

Options :

920906107997. 1
920906107998. 2
920906107999. 3
920906108000. 4



